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QUESTION 1

When you set up a new 2-node switchless cluster running ONTAP 9.5, which IP subnet is used for the automatic IP
assignment on cluster ports?

A. 10.10.0.0/16
B. 10.0.0.0/8

C. 169.254.0.0/16
D. 192.168.1.0/24

Correct Answer: B

QUESTION 2

You are asked to install a 2-node FAS2554 cluster running ONTAP 9.5. The controller arrived with ONTAP
9.0 installed.

In this scenario, which two tools would be used to complete this upgrade for this installation? (Choose two.)
A. HTTP server

B. SMTP server

C. FTP server

D. SNMP server

Correct Answer: AC

QUESTION 3

Which tool allows you to create a new FlexGroup volume?
A. Cluster Config Builder

B. NetAppDocs

C. OnCommand System Manager

D. OnCommand Unified Manager

Correct Answer: C

QUESTION 4
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Which hot-swappable transceiver is required to obtain full performance from a Cisco Nexus 3232C cluster-interconnect
switch?

A. QSFP28
B. QSFP+
C. SFP+
D. SFP

Correct Answer: A

QUESTION 5

Your customer wants to buy four new DS212C shelves with an 8 TB SATA drive. The customer also wants to know the
usable aggregate size of this configuration.

In this scenario, which resource would you use to accomplish this task?
A. Fusion

B. Hardware Universe (HWU)

C. Interoperability Matrix Tool (IMT)

D. Config Advisor

Correct Answer: B
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